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QUESTION 1

A company is using virtual desktops in full done, persistent mode, and using software distribution tools and scripts to
deploy and install Windows-based applications. Windows based application deployment failures are mow on the rise
and user downtime has increased.

The CIO has asked an architect to recommend a solution which meets these requirements:

1.

Windows applications are to be available for use on iPads, zero clients, and Windows laptops

2.

No more use of software distribution tools and scripts to install applications to users\\' virtual desktops

3.

No streaming of applications to virtual desktops

What two changes to the environment should the architect recommended? (Choose two.)

A. Deploy App Volumes.

B. Deploy RDSH.

C. Deploy Identity Manager.

D. Deploy User Environment Manager.

E. Deploy non-persistent virtual desktops.

Correct Answer: AC

QUESTION 2

A security team is implementing VMware Identity Manager to have a central point for authentication to facilitate access
to its company\\'s applications. The team would like to have users to authenticate to VMware Identity Manager before
being able to connect to a Horizon View Desktop.

What can be done to ensure that users who try to authenticate to the Horizon View Connection brokers are forced to
first authenticate to VMware Identity Manager?

A. Create a SAML authenticator in Horizon View and set it to "Allowed."

B. Configure View advanced authentication to "Allowed" on the Horizon View Connection broker and create a Kerberos
authenticator on VMware Identity Manager.

C. Configure View authentication to "Not Allowed" on the Horizon View Connection broker and create a Kerberos
authenticator on VMware Identity Manager.

D. Create a SAML authenticator in Horizon View and set it to "Required."”
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Correct Answer: D

QUESTION 3

Which are three default network ports that need to be allowed through a firewall for a Workspace One solution
supporting Mobile Single-Sign on (SSO) for iOS and Android devices? (Choose three.)

A. TCP 5262

B. TCP/UDP 88

C. TCP 8443

D. TCP/UDP 1337

E. TCP 443

F. TCP 80

Correct Answer: ABE

Reference: https://techzone.vmware.com/resource/network-ports-vmware-horizon-7

QUESTION 4

Ten task workers in a remote branch office access Horizon VMs running Windows 7. The workers use PColP zero
clients over a 40 Megabit per second network connection. No GPO currently alerts the default Horizon PColP settings.
Which two Horizon PColP GPO settings improve user experience and help reduce the network bandwidth needed by
each Horizon zero client session? (Choose two.)

A. Audio bandwidth limit

B. Session bandwidth floor

C. Build-to-Lossless

D. Session MTU

Correct Answer: BD

Reference: https://docs.vmware.com/en/VMware-Horizon-7/7.3/horizon-remote-desktop-
features/GUID-6C22A209-AFC1-47EF-9DFF-39AFB38D655D.html

QUESTION 5

Which three options need to be considered when implementing multiple vCenter Server in App Volumes 2.x? (Choose
three.)

A. Datastore names must be unique.

B. Each vCenter must use the same credentials.
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C. Host names must be unique.
D. Portgroups must be unique.

E. Each vCenter must support Cross vCenter VMotion.

Correct Answer: ABE
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